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The average of marks obtained by 120 students was 35. If the average of the 
passed candidates was 39 and that of failed candidates is 15, the number of 
the candidates who passed the examination is:
120 छारों द्वारा प्राप्त अंकों का औसत 35 था। यदि उत्तीणण छारों का औसत 39 था और 
असफल छारों का औसत 15 है, तो परीक्षा िें उत्तीणण होिे वाले छारों कं संा या है:

1. 100      2. 100        3. 120         4. 80        5. None
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The per month average salary of the workers in a factory is ₹ 8000. If the per 

month average salary of the 7 technicians is ₹ 12000 and the per month 

average salary of the non-technicians is ₹ 6000. The salary per month of all 
the non-technicians is ₹ a. Find a

एक कारखािे िें किणचाररयों कं प्रनत िाह औसत आय ₹ 8000 है. यदि 7 तकिीमियि कं 
प्रनत िाह औसत आय ₹ 12000 और गैर-तकिीमियि कं प्रनत िाह औसत आय ₹ 6000 
है। सभी गैर-तकिीमियि कं आय ₹ a है। a ज्ञात कंजिये। 

1. 84000       2. 85000       3. 128000     4. 90000     5. None
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Mr. Bhanu Pratap covered 150 km distance in 10 hours. The first part of his 
journey he covered by car and then hired a rickshaw. The speed of car and 
rickshaw is 20 km per hour and 12 km per hour respectively. Find the ratio of 
the distances covered by car and the rickshaw respectively.
श्री भािु प्रताप िे 10 घंटे िें 150 ककिी कं िरूी तय कं। अपिी यारा का पहला भाग उसिे 
कार से तय ककया और कफर एक ररक्िा ककराए पर ली। कार और ररक्िा कं गनत क्रििः 20 
ककिी प्रनत घंटे और 12 ककिी प्रनत घंटा है। कार और ररक्िा द्वारा तय कं गयी िरूी का 
क्रििः अिुपात ज्ञात कंजिये । 1. 2:3        2. 5:3        3. 3:5           4. 1:1          5. 2:3
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In a mathematics examination; the average score of students who passed is x 

and those who failed is y. If the average score of all the students who 

appeared in the examination is z; then the percentage of the students who 

failed was:
गणणत परीक्षा िें; उत्तीणण छारों के औसत स्त्कोर x है और िो ववफल रहे उिका औसत y है। 
यदि परीक्षा िें उपजस्त्थत सभी छारों का औसत स्त्कोर z है; तो ववफल छारों के प्रनतित था:

1. 
𝟏𝟎𝟎𝐱𝐲

𝐳𝟐
2. 

𝟏𝟎𝟎(𝐲−𝐳)

𝐱−𝐲
3. 

𝟏𝟎𝟎(𝐱−𝐲)

𝐱−𝐳
4. 

𝟏𝟎𝟎(𝐱−𝐳)

𝐱−𝐲
5. None
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In a class; the average age of boys is 16.5 years while the average age of the 
girls is 14 years. If the average age of the students of the class is 15 years; find 
the percentage of the girls in the class.
एक कक्षा िें; लड़कों कं औसत आयु 16.5 वर्ण िबकक लड़ककयों कं औसत आयु 14 वर्ण है. 
यदि कक्षा िें ववद्यार्थणयों कं औसत आयु 15 वर्ण हो तो कक्षा िें लड़ककयों का प्रनतित ज्ञात 
कंजिये. 1. 30%         2. 50%       3. 60%         4. 45%          5. None 
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Vishwas borrowed a total amount of ₹30,000, a part of it on simple interest rate 

of 12% pa, and remaining on simple interest rate of 10% per annum. If at the 
end of two year, he paid in all ₹36480 to settle the loan amount, what was the 

amount borrowed at 12% per annum?
ववश्वास िे कुल ₹30,000 कं रामि उधार ली, इसका एक दहस्त्सा 12% प्रनत वर्ण साधारण 
ब्याि पर, और 10% प्रनत वर्ण कं साधारण ब्याि िर पर िरे् है । यदि िो साल के अंत िें, 
उन्होंिे ऋण का निपटाि करिे के मलए कुल ₹36480 भुगताि ककया रामि, प्रनत वर्ण 12% 
पर उधार ली गई रामि क्या थी?1. 12000    2. 18000    3. 15000     4. 17000     5. None
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17.5% of the population of a country is below poverty line. If 19% of the rural 
population are below poverty line and 83.5% of the urban population are 
above poverty line; find the ratio of the below poverty line of urban to rural 
population.
एक िेि कं 17.5% ििसँा या गरीबी रेखा से िीच ेहै. यदि 19% ग्रािीण ििसँा या गरीबी 
रेखा से िीचे हो और 83.5% िहरी ििसँा या गरीबी रेखा से ऊपर हो तो गरीबी रेखा से 
िीच ेिहरी और ग्रािीण ििसँा या का अिुपात ज्ञात कंजिये.

1. 37:38      2. 76:165        3. 2:3         4. 76:99        5. None
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A vessel of 80 liters is filled with milk and water. 70% of milk and 30% of water 
is taken out of the vessel. It is found that the vessel is vacated by 55%. Find the 
initial quantity of milk and water. 
80 लीटर धाररता वाला एक बतणि िधू और पािी से भरा हुआ है. यदि 70% िधू और 30% 
पािी बतणि से निकाल मलया िाय तो बतणि 55% खली हो िाता है. िधू और पािी कं 
वास्त्तववक िारा ज्ञात कंजिये.

1. 30, 50         2. 50, 30       3. 40, 40         4. 60, 20          5. None 
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Weights of two friends Ram and Shyam are in the ratio of 4:5. Ram’s weight 
increases by 10% and the total weight of Ram and Shyam together becomes 82.8 
kg, with an increase of 15%. By what percent did the weight of Shyam increases?
िो िोस्त्त राि और श्याि के भार का अिुपात 4:5 है. राि के भार िें 10% कं वदृ्र्ध होती है 
और राि और श्याि का कुल भार िें 82.8 ककलो हो िािे के साथ उिके कुल भार िें 15% कं 
वदृ्र्ध होती है. श्याि के भार िें ककतिे प्रनतित कं वदृ्र्ध हुई?

1. 5%        2. 15%        3. 10%           4. 9%          5. None
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The present population of a town is 5000. If the number of the males is 
increases by 10% while the number of the females increases by 15%; the 
population of the town increases to 5600. Find the ratio of number of males to 
females after the increase.
एक कस्त्बे कं कं वतणिाि ििसँा या 5000 है. यदि पुरुर्ों कं संा या िें 10% कं वदृ्र्ध हो 
और िदहलाओं कं संा या िें 15% कं वदृ्र्ध तो कस्त्बे कं ििसँा या बढ़कर 5600 हो िाती 
है. वदृ्र्ध के बाि पुरुर्ों कं संा या और िदहलाओं कं संा या का अिुपात ज्ञात कंजिए।

1. 12:13        2. 25:33        3. 33:50           4. 33:23          5. 20:31
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A man spends 60% of his income monthly. When his monthly income 
increases by 15%, as a result the savings also increases by 6%. Find the 
percentage change in his monthly expenditure?
एक व्यजक्त अपिी िामसक आय का 60% खचण करता है. िब उसका िामसक आय 15% 
बढ़ता है, फलस्त्वरूप िामसक बचत 6% बढ़ िाता है. उसके िामसक खच ेिें प्रनतित पररवतणि 
ज्ञात कंजिये. 1. +21%       2. -14%        3. +28%        4. -21%         5. None
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A man sold two articles at 25% profit and 10% loss respectively and gains 5% 
on the whole transaction. Find the ratio of the cost price of the articles 
respectively.
एक आििी िे िो वस्त्तओंु को क्रििः 25% लाभ पर और 10% कं हानि पर बेचा और पूरे 
लेििेि पर 5% का लाभ हामसल ककया। क्रििः वस्त्तओंु कं लागत िूल्य के अिुपात का पता 
लगाएं। 1. 3:4        2. 3:5        3. 4:5         4. 5:3          5. None
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A man sold two articles at 25% profit and 10% loss respectively and gains 20% 
on the whole transaction. Find the ratio of the selling price of the articles 
respectively.
एक आििी िे िो वस्त्तओंु को क्रििः 25% लाभ पर और 10% कं हानि पर बेचा और पूरे 
लेििेि पर 20% का लाभ हामसल ककया। क्रििः वस्त्तओंु कं ववक्रय िूल्य के अिुपात का 
पता लगाएं। 1. 1:6        2. 6:1         3. 25:3           4. 5:3              5. None
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Next Class Topic

(Sat – 28 Aug)
आयु सम्बंर्धत प्रश्ि 
के अंक अब पक्के
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